The owverhang beam is subjected to the uniform
distributed load having an intensity of w = 30kN/m.
Determine the maximum shear stress developed in the
beam.
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The overhang beam is subjected to the uniform
distributed load having an intensity of w = 50 kN/m.
Determine the maximum shear stress developed in the
beam.
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For the beam and loading shown,
determine the maximum normal and
maximum shear stresses at section n-n 2 m
from the point A.
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For the beam and loading shown, 1O0mnen = M . [D.IG xioj) (0.4)
determine the maximum normal and 109man ok E T T :
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maximum shear stresses at section n-n 2 m 12
from the point A.
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Determine the principal stresses and principal Sy = 100 MPa
planes. '—‘7
= Go mPa
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Determine the principal stresses and principal

planes.
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Determine the principal stresses and principal T..
planes.
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Determine the maximum in-plane shear stress.
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Determine the equivalent state of stress if
an element is oriented 30° counterclockwise
from the element shown.
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Determine the equivalent state of stress if
an element is oriented 30° counterclockwise
from the element shown.
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Determine the equivalent state of stress if an

element is oriented 25° counterclockwise ) Center Cr+ €y & o0 _ 0
from the element shown. 2 2
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Determine the equivalent state of stress if an
element is oriented 25° counterclockwise
from the element shown.
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The grains of wood in the board make an angle of
20 wath the horontal as shown, Determine the normal

and shcar stress that act perpendicular and parallel o the
grains if the bourd s subyected (o an axial load of 250 N
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